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SECTION 4.1

Graph AABC with vertices A (0, 6), B (-4, -1), and C (4, -1). Classify it by its sides. Then determine if
it is a right triangle.
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Find x. Then classify the triangle by its angles. Find tiwe measure of the exterior angle shown.
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Find x and y.
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SECTION 4.2
In the diagram, AABC = ADEF. Complete each statement.
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SECTION 4.3

The vertices of AGHI and ARST are G (-2, 5), H (2, 5), | (-2, 2), R (-9, 8), S (-5, 8), and T (-9, 5). Is

AGHI = ARST? EXPLAIN.
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Is AABC = AXYZ? EXPLAIN.
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SECTION 4.4

Is there enough information to prove the triangles congruent? |If there is, state the postulate or
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State a third congruence that would allow you to prove ARST = AXYZ by the SAS Congruence
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GIVEN: AB = CD

CONCLUDE: AABD = ACDB
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GIVEN: 4B = CB, D is the midpoint of AC A Tt v C
CONCLUDE AABD = ACBD W
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GIVEN: B is the midpoint of AE, B is the midpoint of CD

CONCLUDE: AABD = AEBC
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CONCLUDE: AXYW = AZYW




